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General Knowledge

. is NOT appointed by the President
of India?

(A) A Judge of a High Court

(B) The Advocate-General

(C) The Governor

(D) The Attorney-General

Name the first Indian state where every
household has at least one member having &
bank account.

(A) Maharashtra

(B) Haryana

(C) Himachal Pradesh

(D) Kerala

Select the duct which takes the urine out

from the urinary bladder to the outside of

the body.

(A) Urcthra
(B) Ureter

(C) Bladder
(D) Renal pelvis

National Education/Day is celebraca o1
cvery year.

(A) 271 October

(B) 4tk March

(C) 17th September

(D) 11th November

The GST Act was enacted by Parliament vide
the Constitutiona! Amendment Act,
2016 on 8th September 2016,

(A) 97th

(B) 84th

(C) 101Ist

(D) 114th

Which of the following districis belcngs to
the Bundelkhand region of Uttar Pradesh?
(A) Fatehpur

(B) Jaunp

(C) Mahouva

(D) Shravasti

Ql

Q5

..................... . # Pfs ama B sl
gRT =) @ i 87
(A) TeaaW Ry & ~Adree

[(B) wetecaar ]

(C) =TT
(D) #RFITdrer

g 9RaR i B9 § & Ud 9o D U
oWl B |

(A) HERIE

(B) wfREmor

(C) Rwrm wem

(D) &% |

0 e FEA RS AT W YA <)
iy AR AT ¥

— e ufcew

w1 RE Rew udd av ...
l HATAT WTaT # |

(A) 27 T

(B) & rd

C) 17 Riday
HHT BN 8 Ldaw 2016 @l
dRurE e T, 2016 ?} ETE'"

s aftrfem oiRa R Ty
(A) o7d

B) 844
(D) 114
et 4 <1 e R ST i & gaerEs

&5 | wefia 87
(A) BTER

B 3
(C) uEE

(D) ATaR
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The area of Uttar Pradesh is approximately 07

_of the total area of the country.

(A) 135 %

(B) 94%
(C) 84%
(D) 73%

During the sixth century BC. the area around 08
Mathurs was known as

{A) Pancha!

R Ang

" Shyreen

11 Matgyn

Which rnmantic-poetry writer was uell (O8
known for his werk entitled “Madnastak™

{A) Rahim

(RY Malik Mohmmad laist

(Vv Zia-ud-din Barm

(1) Sultan Fwroz Tughlag

Wha wae the editor of | lrar Pr
daily newspaper _lindustan §
18877 '

(A) MahabirPgasad D ivedi
(B) Padumlal Punnalal Bakshi
(C) MadanMohan Malyiya
(D) Bhartendu HasishChandra

In which year was it made legally binding to Qi1
use Hindi in all official works in Uttar
Pradesh?

(A) 1947
(B) 1957
(C) 1968
(D) 1977
Which of the following was a major painter Qil2

at Akbar’s court?

(A) Mir Musavvir
(B) Dost Muhammad
(C) Daswanth

Tl Yc¥ &1 &3thel <2 § hel 8%l d1 -

S EIREC) ©l
(A) 13.5%

(B) 9.4%

(C) 8.4%

(D) 7.3%

podl e S qd @ IRE YR @

AT TR B A BT s, DET STTAT T |
(A) Wisiiet

(B) an

I(( ) SE I

(D) A/

= 8 @ A o1 dud B SADI

o T NGLERCIRIRC T 1
[

(B = @iEg o)

(Gt e - Sl

D) <qger R

Yo waw i vadl @R 1887 § HEfie @9
g1 2w R e & dued
Pl &7
(A) TRIdR v fRdd)
(B) TATETE ATEATA Ayl

| () wem A werdta |

(D) wig Bfwde
-

IR T2w o fra ad W sieerd sl @
Iy B @ ydi avn gt Ok 9¢
g & Rar war o

(A) 1947

(B) 1957

(C) 1968

(D) 1977 I

forer % F STHIR B <Al b Y REAPR
F o7

(A) i gaf

(B) <@ TERIT

K R_dd
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was a prominent musicians ol
Faizabad who developed the Tappa style in
classical music.

(A) Mustaribai

(B) Khushi Maharaj
(C) MehndiKhan
(D) Thakur Prasad

Which of the following isa popular folk song
of Bundelkhand?

(A) Birha

(B) Alha

(C) Rasia

(D) Languria

Which of the following rivers joins the
Karnaliriver at Brahmaghat in India and form
the Ghaghara river?

(A) Rapti

(13) Gandak

(C) Sharda

(D) Sarayu

Which of the following min€rals is als
known as " Yellow Cake @

(A) Plutonium

(B) Uraniom

(C) Thorium

(D) Aluminum

Which of the following celebrities received
India’s second highest civilian award in 20187
(A) Ghulam Mustata Khan

(B) Sharda Sinha

(C) MS Dhoni

(D) Pankaj Advani

Who was recently appointed as the first
Director-General of the National Testing
Agency(NTA)?

(A) Rajesh Kumar Chaturvedi

(B) ‘Joseph Emmanue!

(C) AnitaKarwal

(D) Vineet Joshi

014

015

................. PIHIG @ YD Hfj'\'.‘.i HNOduiY ¥
o wred ST & oo A @ Rarr
faam)

ECRERE

(B) T WEWw

(C) FES @+

(D) a1& yaE

freifiiRaa 4 A qeams H1 Aafy
e | & ar 27

(A) A

(B) WMeRT

(D) RN

=1 4 0 @i Wleid) qNg A arame 0
ATl A S A SRR RTE S a9
Sy 27 i
(A) %8
(B)IE
i(’-"} Yy I

[ .

& fra wfva m fen B

e 07

(A) Seihm

(B) gfam

Cy e
(D) Ve

- Q17\ = 4 9 g faeere @fio 3 2018 e

Q18

F1 SR Hadl a3l & wEm und fhar?

(A) “TelA I W1

(B) Wk [¥1al
(C) w1 T Fft
(D) W amearit

U E el (UE € Q) @ usd
%A @ yg 9t 5101 8§ 4 fawgh Aizfao
SR

(A) STSIT FAR g

(B) Wl THIUA

(C) 3T Hard

(D) Rafa wid |
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2018. DIEEELEE X
(A) Riode Janeiro BIERGEIEE] ﬁ
(B) BuenosAires (C) wfeamr Rl ]
(C) Mexico Cily (D) FRIgA 8
(D) Istanbul +
S
Q20  In 1825, who founded the Vedanta College Q20 1825 # qQiAT BT B TG fre= A, 5
in which courses both in Indian leaming eand el < arda sz 3l orEmTE 2
in Western social and physical sciences were R e iR R o waa ¢ O
offered? e o P
(A) Aurobindo Ghosh (A) 3Rfaa1 a9 @
(B) Ram Mohan Roy [(B). ™ ATE D] | Sy
(C) Ishwarchandra Vidyasagar (C) gyavs [dediN g
(D) Swami Vivekanand (D) sl o g
Q21  Whichof the following country is known as Q21 fy= ¥ @ g Sy o uwel dow i 2 ﬂ
Ceylon in Past? o,

(A) Maldives
(B) Sri Lanka
(C) Mauritius

fallelle.}
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(D) Suriname v
Q22 India’s distance from Burope 1860 H oo A8 e ARG | %

7,000 km by the gpéning of canal n a9y @ & 7,000 Rreer T B T )

1869. (A) GTHT 'i

(A) Panama (B) ¥

®) Kie

(C) Sucz ' (D) a'eT—2i

(D) Volga-Don

~
Q23  Who was one of the chief guests ofthe 2018 @1 ora feaw 2018 1 TYe @ HE Al

Tl

a{jsicls RROIE 2290 «

Republic Day parade? ¥ ¢ U@ g Ak #lq 97
(A) Bidhya Devi Bhandari (A) Ren 28 wsd
(B) Maithripala Sirisena (B) #Amranr R
(C) Sheikh Hasina (C) I3 &
H T v
(D) Aung San Suu Kyi ., (D) =T AT ¥ B §
Q24 Which of the following e-commerce Q24 | e ¥ A oy E-apfie U+ wrd) e &
companics has signed a pact with & R B T Iy Uy WaER $ 9 ~
Government of Uttar Pradesh for the sale of UE e W) FEER fBu a
Khadi Products? (3) frevad S
(A) Flipkart [B) wada | ',3
)

(B) Snapdeal (C) IS+ gisdl
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Which of the following was a scientist as well
as a great industrialist who founded many
industries in India?

(A) CV Raman

(B) JC Bose

(C) Vikram Sarabhai

(D) Homi Jehangir Bhabha

Who is the author of the book “A Better
India: A Better World™

{A) Kiran Bedi

(B) NR Narayana Murthy

(C) Sudha Murthy

(D} Shﬂbhl Tharoor

Who among the following players, was NO'|
involved in the ball-tampering issue of the
recent South Africa-Australia Test Series in
20187

(A) David Wamner

(R) Steve Smith

(C) Tim Paine

(D) Cameron Bancrofl

The boiling point of watePin Salk renhdit i

(A) 100°F
(B) 212°F
(C) 150°F
(D) 244°F

Which of these is NOT a plantation crop”
(A) Coffee

(B) Tea

(C) Cashew

(D) Millets

By which other name is the pulse “tur” also
known as?

(A) Arhar

(B) "Jowar

(C) Masoor

(D) Ragi

Q25 = A &1 @ dsiiEE 217 & -

0% "Bl SerTafy o & faia wnd d B
SeiElT ) e i

(A) 3 &

(B) @ i a9

l«©) fmw mwn |

(D) = SmEIE AT

Q26 T Y ZieEr ¢ 9T 0T WP UEd
@iv e
(A) oy O
[(8) © s e
(C) JET Hid
(D) %% %

ot ¥ e

Q27 P

el T - y o e e
TRTO -‘.-'-""-"4:-:'_'%' - T 7T
&

Qoy MPreEe ¥ ve @ LR

Q29

Q20
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Alan is used to measure e force
and velocity of wind.

(A) speedumetet

(B) lactometer

(C) thermometer

(D) anemometer

When is National Hindi Day obscrved in
India?

(A) 14" September

(B) 4% November

(C) 14" December

(D) 14" June

Article 6 of The Universal Declaration of

[Human Rights deals with the -

(A) Rightto Recognition asa Person before
the Law

(B) Right to Remedy by Competent
Tribunal

(C) Freedom from Arbitrary Arrest and
Exile '

(D) Right to Equality before Ihle'

Where arc the headquarters o the Wadiona:
Stock Exchange situated?

(A) Chennai

(B) Delhi

(C) Mumbai

(D) Bangalore

The Union Governmentof India has decided
to declare 2018 as National Year of

(A) Fruits

(B) Pulses

(C) Potatoes

(1) Millets

The is a colourful and mesmeric fair
which is held a few days after Holi, cvery
year in Meerut in Urtar Pradesh.

(A) KumbhMela

(B) Nauchandi Mela

(C) GangaMela

s Ok A Lia
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Q36

e fa AT S 2
(A) TSR
(B) dacifiiey

C) e

wra # e B a9 &d wﬂrmtﬁs
i _

(A) 14 farsx
(B) 14 At
(C) 14 AE®R
(D) 14 F

g Sl o) arhis s & g

6 et wafoEhe?

(A) T F GRS e D WU H A
& YR

(B, SRATIE Yo BT yftiame @
IR

(@ fasand st el g
ST

©) ar & w1 TR B AR

Fre wid @S Bl edicy wel §
(A) T18
(B) fredl

(©) T "

TR & B DR A 2018 B

B Ay of afi @ g Pt for 2

(A) oal

(B) <Tell "
(€) '

EIT?L .
[ (D) =2 smiw ]

.................... Ud -4 3R TFITFH ¢
23 qre W & off YRS 9N Soie dedl &
s i Al @ go AT amw e o B
(A) 4t T

[G) T ]

© o s

(D) TFQ Al
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FE LI U DA Pl il LI B% Sl IR LB prad o ane ds 5 ok o
(A) Archimedes

(B) Alexander Fleming

(Cy Alexander Graham il

(D) Louis Pasteur

~oftheConstitution of India provides
a list ol ofMicial languages of the Republic of
India.

(A) The Eleventh Schedule

(B) The Fourth Schedule

(C) The Twelfth Schedule

(D) The Eighth Schedule

i

(A) InfPSa

) sdadise wafin_|
(C) SITIgUIST UigH 4

(D) g TITER
Q38 wram HRum S ... WA IR

&1 anfaei® Al A A e B

gl

(A) TIRE AR

(B) @i HREE
(C) aRBd I
(D) &1edl 3yl

General Hindi

gl gT g NET 81 - Ya@ifd g B

8 &

(D) "dHeR

el ey o= 1 TR A wiRy (aifha

g2 G ] EA U
(A) IV
(B) o

(€) ararfas
(D) Rrre 1 = &

AfaRad 9881 4 8 SF-91 9% 3ol
T8l 87

’p\) thddr

(B) arTd

C) HETdR
RAFT A e ¥ & — O forn o 8

BEE
(B) EMRT®

Q43 Bl o EEe) Beia R
[V EaT = SEa
= DY
- ¥
BIGCH

M, = afafas I FEEni @ wIfky | i
e $ ygdify |
A) T
(C) Hd=m
(D) PNH

Q45 e - g § @a—ar uea 5?7

\) i

(C) 3u
(D) @1
D -

Q46 _yf + 3rurd &ﬂ%ﬂ'ﬁ B @4l w17
(R JaTErd -
(B) wraarend
(C) wchianug
(D) wdiHTE
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47  HelWY 2w o HiT GG mivs = (WAL o IR T AV L TR R NN I TR TR AR
(A) 75 + 3w sl BN ﬁ
(B) wa + aimm (A) RAftre 3% wrma =1l & gern -~
L) w + Avh | (B) Q=1 aNIER BT o
(D) 7@ + IS (©) R rw @ RmiErE 7 o =
o -y . (D) g S
Q48 FretfeRen wadi § 9 agd we 9 veEfAg | =
(A) T —— @
i Q35 ot U@ A el ) aR-aR SR dk ()
B) @il M i 9
= TET TR F | =
i (A) THT m
(D) wat e o
i FOHTH )]
’.E & o iC) {!_:‘3 %i/
Q49 frafafes 5 9 39-F TR ¥ 87 % 4
o (A) arr 3 A g ) T , ©
(B) |\t @ DT & TTe 8 “ g]
TR T Q3¢ TN AT GH ES R 9@ dx9r g
(D) 3rf) b v A8 Pren & A AR § o
; Q50 TR @i A T E @ T WG AW ™ od '
T O | (Yo ¢
(A) 3 | (h) Ve
~ (B)Y 3 v
C) @ @l > . ;
I ED; 1|t|[ =8 &t gl J o i i %
- : frar o | ¥giforT e T WAE BT
' Q51 e L MGG 14 (A) erdhTg WART ¢
(A)§I (B) TRy WA
B ) % (C) SHIRT FART
() o (D) fosy w® L

(D) & gL A

o g Q58 el el @l W W@ B
Q5  ai@m & v 7 @ e Rad gdm éas

Tl

{jclols PRoIE 2} <

fur ovar & S¥ BEd 2
(A) sied favw () oo

I(?V) ‘:cl'\'j A | (Q'} BRI

(C) Taer T (D) e
(D) 3% A= b
Q59 _ani & FHETT @1 &1 HEd 87 og
Q53 Hici-Nai & & 99 gErms 77 B TR (A) dUiHIcll E
2| wafac Ao & g s A | (B) NeeTH =
[(a) wga oo gan | ©) R a
(B) = " I (D) foar E
(€) g7 :,T Tavar ¥E %
(D) wge &1 o v | A
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Q60 Frefiua wwt A ¥ efT ws @
ygdrtIy |

LX) IR

(B) TR

(C) [¥<™

I(D) affgan |

061 frefoRad § A Fr—ar Wer wdl 780 8
(A) &Y — efeai
[(B) Tor=zr - S |
(Cy ST — ST

062 frefarRad areil # ¥ FaUEHE A qATHT
! TEafay |
(A) IM AT T B |
[(B) %&1 @1 &l agd au alsar 61 |
(C) ¥ A G B AN
(D) & 3T g P HR X |

Q63 _Pr=fRad sreal ¥ ¥ fadmmor 31 ug
[ (A) Wefi :
(B) QU
(C) 3near
(D) 3rden

Q64 T e WO fhET BT ver fromis Sy
AT ST
PELEE
(B) SrTa1
(C) SITrerr
(D) wITT

Q65 fr=fafad areadt #§ @ ol ad4+ e @
e BT
[(A) 3 g ugd a7 woa & 7@ B |
) e o ST T T

(C) & 9 e |

(

D) # amer W |

Q66 zj%ﬂ?ﬂam@m'm&aﬁasﬁ 8-
[a) s |
(B) T °[@
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frerferfa rgaie #1 gese @ T v
(Q67 - Q71) &1 Jcai¥ RS-
HIA & TG qeHaiel Aergeal § Jd-
MR BT W@ I 8 | I9d] Wlad dea
RIGEN 81 So@ O H 7 83 1861
Fadel @ P I IRTR F AT Al
g R @1 T QIR SR AR B
A ARETEA o1 | S R gen warA @
FT ) T HEE B, BEFNPR, TRTER,
REer, GfiaeRr, Fehd U4 G5 a9
A IEA 8 W B S W # FEA
e oft, rgeiiaTel, ARER Wig), U HIRET
T st ewfear w9 ) B wE 1878
¥ B @ Ul G ferg o g ofde
wiRcddl <dsraoies0 # e i
(Fh) femy TRl gy vl @ 3 A
<l -sffrerafld, WRDSTT @ e cAl
F8erTEaY 1908 T D Agea § HeAbcll
3 ErEES 3cd QAN A=A B
AR g | g8 arfares 9 AR i e
‘el b1 FWT BT STD HEH b
Mgt @ o/ & [y 1913 3 9%
| QWER YaH fhar A 6 1919 4
U Wfidre geais @) 3E HeR M
& wer M g g o s
AGT §S' JUMY et €1 ) HIRd FT TS
ST MU A9 Ud arerey & v Ald
MR WER ArEr 9T @ =T 2
Wl wientl J@AAT TRl il
e 7 aTRA 1941 H Feldedr T BT
ITH1 Ot Ued U uesia €|

TIge &S ) Sy MR 3 4 el
(A) 3% @8 sulfy g1 1= of |

(B) wferaiarar w1 gdm@Ts &, I d
Srer o |

(C) dT—T & IR & [y H
(D) Aftor = A SR A
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Q68 TRl 27N @ @ XAl 1 i - S

YRR Wl g3Y ,

(A) bidciidicll (A) nglé{n aHl

(B) Hidcy Jdled (B) Si7¥ipY UdETE

(C) TRE Hie ¢ fo) e T |
(D) YA=I-eT ud

069 WAl TR & G Bd Y prl B

ﬂﬂwﬁzﬂaﬂaﬁ fear?

073 EaT SYRTH W did O fed @ gl
1L | IURIREDHIY @ @l A B |
A) UHdTO]

|_(M 7 5¢ 1861 # @erball A | _
(B) 2 Ak 1861 1 TAI H B) IRGAH SEMRAT |
(C) GHAR HINET]

() 14 “[diax 1869 W gATEEIT A

(D) & fecar 1889 W I@R ¥ed A (D) T e

Q74 _ormadi @ wafiw B o7
(A smgs= wwe |

Q10 BT [Udl P-4 HHE & T A4°

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

RDEEE
B) amd (B) ‘l'ﬁli;ﬁﬂ T
(C) eUTTh IS ) ward B
T L R

(D) wsHpan fige

nlaldy

Q71 GV AT AR @ TN § o @75, TR an gedraridl @ Al 87
(A) gl

|tm Wl SN | a
) e

(B) Al g,
() eftderma =5l R HERT
(D) anm

(D) \"mi;‘ﬂﬁ IPES

Hedf - SR, SR, PRI a 8ER
B2y 535 «

Numerical & Mental Ability

e e w1t @) 3@d 15 R F QI oY
aFe & oAty Bive B o d1d BRI
ey § 21 B ot § | OB W T v
@ 2 F gad @ B QU a6 fba

()76  Rashid can complete a job by himselfin 15 07¢
days while Kausik can do the same work
alone in 2| days. If they work together how

many days will it take them to complete the

Tl

a{jsicls RROIE 2290 «

work? f2q = wHa 87
8 A 8, s
(A) 8, 4 °3
-4
ol ®) 9= 0
(B) 3 | -
®
I 0
ki C) 8— r
() 84 () 1 R
3 3 b
(n 9° (D) 93 3
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A ship developed a leak 15 km from theshore

and yet could travel towards the shore at a

Q77

speed of 10 km/hr for a maximum time of
|8 min. A rescue vessel that was immediately
sent from the shore to rescue the passengers
would take 6 min to complete the rescue
once it reaches the ship. What should be the
minimum speed of the rescue vessel inorder
to be able to successfully evacuate everyone
onboard the ship?

(A) 72 km/hr

(B) 70 km/hr

(C) 68 km/hr

(D) 63 kuv'hr

The length of a side of an equilateral triangle Q7§
is 21 cm. what would be the approximate

area of the circumeircle of the above triang

39

[Use = > ]

(A) 154 /3 cw’

(B) 4623 cm®

(C) 4062 e’

(D) 484 cm’

Zubin and Pravin can individually complete Q79
a job in 36 mun and 60 min respectively.
Starting with Zubin, they work alternately
for a minute each Lill the work 1s completed,
anly the one working at the end allowed o
work for less than a minute in his final turn.
How long will it take the duo to complete
the job?

(A) 45 min

(B) 44 min48s

(C) 44mind5s

I AR i 127 ¢

a2 | 15 fHameY B 3 R fH o'
¥ 6% s & T v R R sl
18 f#e @ 3m@fa ae g8 vz, 1
freiier /ufd U2 &l dWl 9 02 @) 3
AT Y Abel 21| d¢ A A o aed
91 AT F, SERN b TG & a8 TEHA
@l qai B¢ 6 fA7e o1 | GTETe Ov Safver
Wil |l @1 UhdATyEd Fae @ fag
4914 A1d ) <8 qfq @ @+ wfRy?

(A) 72 fpanies /ue I

(B) 70 fdefi¥iiey / ue
(€C) 68 fFeiiies /ue,
(D) 65 fdetitag/ «e

GgeRiFTaTy B & v M8 @ dag 21
Reriie? 8| affgm Bao @ aftge @
T aar 8

2

- &1 G |

(A) 154 f3 Frdier

(B) 462 [3 TR

(€) 462 Tidiey

(D) 484 FEAET

Sffa ofiv yalvl sTer o6 MAe 3k 60
fre % <0 oW @1 R aw T F
JfeT | g% TR BU d B G R R
dofew v ¥ @ e dq om axd &
3§ BT B are BT & 3O I T
#up e & @9 g9y 8q aM o @l
SIgHf e 81 Q- @ @et gy e
fdr q4d cda?

(A) 45 e

(B) 44 9 ic 48 I3

(C) 44 T8¢ 45 e
(D) 45 fFe 12 J@s

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote
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Q80

Q81

Q82

Q83

Q84

Govinda usually leaves his home every day
at 8 am and travels at 2 certain speed to reach

4
office on time. One day, he travelled at 3 of

the usual speed and hence arrived 22.5 min
late. How much time does Govinda usually
take to reach his office?

(A) 1hr|5min

(B) 1 hr20min

(C) 1hr25min

(D) 1hr30min

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

Saffron : Spice :: Apple :

(A) Vegetable

(B) Fruit

(C) Stem

(D) Root

‘Saliva’ is to “Salivary Glands’ &
‘(A) Stomach
(B) Liver
(C) Pancreas
(D) Lungs
R s to ‘GeRius’ as “Mass’ is to
*Grams”.
(A) Heat
(B) Humidity
(C) Energy
(D) Temperature

In a certain code language, MUMBAL is
written as NTNABH. How will KANPUR
be written as in the same language?
(A) IBMQTS
(B) NAKRUP

 (C) LZOOVQ
(D) LBOQVS

Q80

\9}1

Q83

Q84

ifdar e ufey 2w ares o | gaE ¢
ot Frereian & o T9Y Y ST ugHr
&g fafraa TR 4z amn o &) % R

7 A (@) T & % T | >

& & AR 2250 Myre @ &8 W wgam
2| wEE: MidE o P g A
fpere €FT T &7

(A) | €21 15 fFe

(B) | =zr 20 fame

(C) 1 &1 25 e

[(D) 1 g 30 Tic]

g9 RiTea & 989 F9 o) A ug 9§ 39
g e S YR U 8 UEd 19
T waftg ®

Sy PR : e

e

(D) v$

S ErTdd o aREr g ¢ wER
T BT ATAT oo €1
(A) U2

(B) fomme
|{C) I |

(D) FHs

i | wrere AR ¥, R
PR ‘g’ & Addd U B

(A) arfaan

(B) =

(C) Tl

e 0w PiRad dda—ame 3, e
MUMBAI &1 NTNABH foran smar 8,
g KANPUR @1 ot @re § & foran
ST

(A) JBMQTS

R) NAKRUP

©) Lzoovg |

(D) LBOQVS

L
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ARG (D IC1AL0U WU W/VEIL I LIS Dallic yvay
as *[ce-Cream’ is related to *
(A) Filter

(B) Non-stick Cookwarc
(C) Refrigerator
(D) Cooker

*Meghalaya’ is related to ‘Shillong’ in the
same way #s ‘Nagaland’ is related to

(A) Daman

(B) ltanagar

(C) Kohima =
(D) Dispur

*100’ isto ‘Century’ as *107isto*
(A) Ten

(B) Fortnight

(C) Week

(D) Decade

What will come next (in place of *7’
given series? '
D4X24E5H8T20L?

(A) 18

(B) 26

(C) 12

(D)7

How many ‘M’s argimmediately preceded
and followed by ‘N in the following series?
MNNMNNMMMNNNOOMMM
MNNMMMTTMNMNMNMN
(A) 3

(B) 3

<) 7

(D) 4

What will come in place of the question mark
(*?”) in the given series?

© 21U13M22VIRR?S

(A) 22
(B) 25

fON 10

FO
\</

7

Q86,

o

e LA L M NOVAH AMAN WIMIiMN Q 1w
UPN ‘WSHADH, e ‘| HeleE &
(A) Theer

(B) FH-e® FHdaR

|{£;J fhuitey )

Wk

Hrrer, et | Il oER gafa @ faw
(A) B9
B
(C) mifgsm”
(D) Te¥Y

100 1 Hdld WD, §¥ UBN 10" &
7o ' A A

(A) €31

(B) 98

C) U<z

A srphn A (7) D @M R
s ET?

ot 24ESH8T20L?

(A) 18

B) 26

(D) 7

' et 3 ) M
y/ﬁmfwm sjeen 3 ¥ ¥ R

TR UEd SR g A # N P
MNNMNNMMMNNNOOMMM

MNNMMMTTMNMNMN A 3}
)

(B) 5
©) 7
(D) 4

890/'ﬂﬂﬁ‘~:i%aa IgFE A (‘) B WH R B

€ e e
21U13M22V18R?S
(A) 22

(B) 25
() 19

Bookar«r | ™

~
=
o
+

=
=
=
D

(R
e

9

?
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=
S
4
=
o
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1f GOOD = 41, then BAD =2
(A) 6
(B) 12
© 7
(D) 10

Q21

IEACTIVE = 60, then PASSIVE —?
(A) 100
(B) B0
(©) 91
(D) 55

Q92

If in a certain code. Silk is written as
1991211, then what will Cotlon be written
as in the same code?

(A) 31514152020

(B) 35201201514

(C) 32015152014

(D) 31520201514

A clock is showing theffime |:40,If the
minute hand points to South-West, in Which
direction does the hour hand point?_

(A) North-East

(B) South
(C) North
, . (D) South-East

QY5  Amal and Subir were standing face to face
in the evening and chatting. Their shadows
were in front of Subir. Which direction was
Amal facing?

(A) East

(By West

(C) North

(D) South

https://utkarsh.com/student-corner/pyq

afé GOOD =41, @ BAD="?
(A) 6
B) 12
Q7
(D) 10

Q91

afs ACTIVE =60, @ PASSIVE =7
(A) 100
(B) 80

(D) 55

Q92

ufz b Pfgg d@T-fra A4 ue Silk’
Eal ~|§31‘5 |%ﬁ‘m Frarg,a @i ‘Cotton’
71 s BT SRRET T
(A)3] 514152020
(B)«35201201514
(C) 32015152044

520201514

2

wu:u‘i-:l mﬁﬁwiﬂ'@l?ﬂﬁluﬁ
Pre o g <o o @ i e
axdl &, o 6 g¢ fea e & 3R
g weil?
(A) Sar-gd
(B) &

(C) SR

(D) 3w - @

e

el ol AR WM B WY (B TR D
AT @R AR A B ¢ | D BT
gere o e of | o ft R ok
q8 #a @sl 91’

&) @

@) oRaw

(C) IR

(D) =R

Q95

~
=
o
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=
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=
D
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e
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S
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=
o
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Consider the given statements to be true and
decide which of the following conclusions
logically follow(s) from the two given
statements. disregarding commonly knewn
facts.

Staterments:

Some crows are pigeors.

All the pigeons are peacocks.

Conclusions:

1.  Some crows are peacacks.

II. No peacock is pigeon.

(A) Only conclusion I follows.

(B) Only conclusion I! follows.

(C) Neither conclusion I nor 11 follows.
(D) Both conclusions [ and I1 follow.

Consider the given statement and the

following assumptions to be true and decide

which of the assumptions is/are implicit in

the statement.

Statement:

Save non-renewable sources of energy for

the next generation.

Assumptions:

I. The neat generation will have g
renewable sources of encrgy. :

II. If non-renewable sourcesofencigy ge
exhausted, the next géneraticn will mot
be able to use themand willhave 1©
think of altémnatives. :

(A) Only assumption | s implicit

(B) Only assumptiomllis implicit.

(C) Neither assumption [ nor s implicit.

(D) Both assumptions Lan€ Il are implicit.

Consider the given statement and the
following assumptions to be true and decide
which of the assumptions is/are implicit in
the statement.

Statement:

Like poles repel each other: unlike poles

attract each other.

Assumptions:

1. Magnetic objects of similar pole repel
cach other.

1l. Peaple of opposite nature remain more
intact.

(A) Only assumption| is implici.
(B) Only assumption 11 is implicit.
(C) Neither assumption I nor 11 is implicit.

Y%

IGU 1Y @il YY IGUIK @YX DY, Xmirus
STd Al B ARG dw g UT U
3 b et § @ P-4l fAspd o1 R v
21 woFl & FFETE SY I AT FAT B |
HOT -

(B) @ ‘

(C) = ai Fresd 1 aix = & Py 1 e
el & |

(D) P 1 3ix Freed (1 T @ 1o
F 81

e v HuF 3R Praf@fad erensi »
w8 v AR Fof d [@pud § @ 4
R/ TR T £ |

I '
gy, NeAFORBIN @1 ot )
@ o wang)

. are] SRS 9 Ful B BIE
=g ATq @ 8l |
i@ - Tdiei d T
[ 8 WY el 6 3R wAnT
a4 4 A w61 enly 3k Rawd B
TR N WA 2N
Irm;ﬂzmuﬂaﬁfﬁd%l
(B) erRer 1l sraf=ied € |
(C)mtﬂmw_nlﬂTﬁW'l'IISTaﬁﬁﬁ
g1
(D) s 1 s e 1S siafifea #)

Q98 Ry 7T T I yforfae smonst o
w8 gl AR fo o & awe d P )
giRon / gTveng stafifya /21

FU:

FaeNd gd U el P ASNT AR 8

o a6 TR B BT R €

ETROTT: &4 i

1. sl P Udh oX
e

11 d @ o o
wEd E

(A) dad eom 1 3icHET 8|

(B) dae urem 11 afafifRa 21

(c);na’rmlmtﬂmliﬁaﬁ%a
21
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|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

nlaldy

b Y

bEldp LRdIE 206 BRI B3] <

siaded 3591 [9PO «



https://utkarsh.com/student-corner/pyq

us https://utkarsh.com/student-corner/pyq BTl

UTKARSH

—CLASSES— gﬂi
HddI €

Q99 Which of the following is NOT acomposite Q99 Fr=fafas § @ $5 @ s sy Q104
number? (@i dR) 78 87 '
(A) 133 (A) 133 !
(B) 433 (B) 4332 '
(C) 533 C) 533
(D) 833 (D) 833+

Q100 Select the most appropriate option 1o solve Q100 Frfofaa wavor & w&d Sfaa

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

the equation. fepred |
105+15x(38—-8+5)+3= 105+15x(38-8+5)+3=
) (A) 7 (A) 7
o 1 5
® 3, ® 33
(©) 14 () 14 ~: 38
1 1
10— 10~
(D) > (B 2
LY .
Q101 Select the most appropriate option to solve Qi01_Frafifan wiawer o1 ga Pae 3 %G
the equation. iR Sfed ey & aa9 W |
> 1.8+1200= 184 1200= v
(A) 0.15 (A) 0:15 %
(B) 0.015 (B) 0.015
(€) 0.00015 C) 0.00015 ﬂ»
' (D) 0015
E Q102 Sclect the mestappropriaté option to solve Q102 f=ififed wiwwer @ B P & o
11 33 " A3 g’
the equation, —#% = A ofad fases &1 au7 o | L
8 56 8/ 56
1 A 3l A 3
) (A) 35 (A) 775
a3 71
® 73 . ® 73
C 3l C 3l v
© 3; © 33 .
1 1 = g-
(D) 27 (D) 2 (]
3 3 -]
a
Q103 What is the HCF of 54, 162 and 189? Q103 54, 162 U@ 139 & HEGH WATYAdd o
(A) 27 T &7 §
(B) 9 (A) 27 5
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What is the | CM of 64, 128 and 160?
(A) 320
(B) 384
(C) 512
(D) 640

if 84 is divided in the ratio 5 : 9, what is the
greater of the two parts? b
(A) 34
(B) 63
(C) 57
(D) 48

Ifx:16::63:36, thenx=
(A) 20
(B) 24
(C) 28
(D) 30

Rishi secured 66 marks in a test out
What was the percentage of marks obt
by Rishi?

(A) 84

(B) 88

(C) 873

(D) 90

Irene suffered a loss of 12%6by sclling a mask
for T 308. At what Selling price would she
have made a orefitof 10%?

(A) T 296

(D) ¥263

(€) T374

(D) T 385

Aftera discount of'15% on the marked price
of asctof pens, it still cost the buyer ¥ 1.751.
What was the marked price of the set of
pens?

(A) T 2,025

(B) T 2,000

(C) T2,060

(DY ¥ 1.989

Q106 afg x: 16 ::

Q109 ®aw @ ¥e & Jfda qA

Q104 64, 128 T 160, HT AETH JHTd (TAUIT)

T B
(A) 32
(B) 384
(C) 512

Q105 #f2 g4 @ 5 9 & ysquat ¥ frmfora fvan

B0 A ) e e B s L MR
ACIId

o]

(B) 63
(©) 57
(D) 48

53 36 W =
(A) 20

B) 24
(L

e e el 75 3 ¥ 66 3
mtmﬁmrm@aﬂ?ﬁmsm

(A)y"84
(C) 87.5
(D) 90

Q108 99 F "AR& @ fAgh T308 7 B, fra

9 12% @ #f) gd )| o g F
FH T 9D 10% B AT grE S

(A) 396

(B} X363

(C) 374

W 15% B BT
g HvR W M @WIEER B T 1,751 @
Hwa gpF a9 | wem D e B dfed
qoq @ P
(A) 32,025
(B) 2,000

(D) T 1.989
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Q110 T 1,800, invested for 5 years at 8% simple Q110 8% ufdy a¥ & T @TH W & a¥ ¥
interest per annum, will earn an interest of 7180041 FAT &AW T ..o T
. Tt & |
(B) 750 (B) 750
(C) 630 (C) 630
(D) 675 (D) 675

Q111 What would be the interest accrued in two QI 10% 3 Tt asgfy =@ = 2 a8 &

Rre 2300 % P o wra @ S areh
& A R B A Fr e

years on T 300 if the sum 1s invested at 10%
interest compounded annually?

(A) T60.50 (A) T60.50
(B) 60 (B) T 60

(C) T61.50 (C) T61.50
(D) 263 |

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

Q! 1 2gEE i MRy & 8 : 3 & Jqure 1 HHEK
# Frftggamn 2 v g ey B, o
OSB3 MO A T S aeE
Mg 12T B EIE W ERT

Q112 Suhas and Nitin invested some money ina
husiness in the ratio § ; 3, but Suhas withdrew

nlaldy

his money after a few months, [fthe end-of-

twelve-months’ profit was shared bé '3 P A . y
i ~ X v !EII.Q 3:"[1*:[ (] [ ¢] .’Aiqld
Suhas and Nitin in the ratiQ 5:4. fo 4 218 we Aaa Bt A e w0 %
many months did Nitmalone invest? ior frar &vm?
q ’
5= - 5 i
W s '_ (A) 53

ey - SR, SR, FIPRTS 9 §6R

6 3 3 v
(B) ®3 ' (B) GE g,
c) 52 ;
=% ) 3=
= ”
5
6= 5
0 () 6 g:
QI13 Theaverage marksobtained by 5 studentsis Q113 & P gy e aim) @ i 55 R
55. The average scure of the top three o 5 fcafiE § 3 AN & Rguidy é
performers out of these five is 65. What is &1 3T of® 65 ¥ 39 A Reuiiar o 9
. the average score of the other two? ST I @ &7 ()
(A) 50 (A) 50 ﬁ
“(R) 45 (B) 45 u;
' o
&0 5
(D) 35 (D) 35 3
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- Mental Aptitude, 10 & Keasoning Abilty

Select the option that is related to the trd
term in the same way as the second term is
related to the first term.

82:64::92:7

(A) 81

(B) 90

(C) 49

(D) 100

If *MATTER’ can be coded as "AMTTRE".
then how would you code ‘LENGTH'?
(A) HTGNEL

(R) FLGNHT

(C) ELNGHT

(D) ENLGHT

If *METHOL’ can be coded as ‘EMHT-
then how would you code *PRACTIC
(A) RPACITCE
(B) RPCAITEC
(C) RPCAHIEC
(D) RPCATICE

In a code language iTMANGO is written as
bGNAM. then what will be the code for
APPLE?

(A) APLPE

(B) APPEL

(C) ELPAP

(D) ELPPA

If '‘CHANTING® can be coded as
‘HCNAITGN®, then how would you code
‘PINCHING™?

(A) IPNCHIGN

(B) IPCNIHGN

Qrl4

39 [aded &I oy Y Ol dR U 4 I
e | TOd ® 1Y dvE ¥ g ug UBd
ug 31 AT &

82:64::92:9

(A) 81

(B) 90

(C) 49

(D) 100

/"
(,}Lﬁ/ufé S M &, ‘MATTER® @ AMTTRE’

Q117

Ql18

# w31 A fawr &1 wFar € @ T
‘LENGTH® &7 fraeRr ordi?

_(A) HIGNE

(B) CELGNHT :

() ELNGHT |

(D) ENEGHT

© @re W A METAOD' @t
HTRE & %4 3 forar ofl debar &,
*PRACTICE’ &I fa¥ Yo foedi?

(A) RPACITCE
(B) RPCAITEC
(C) RPCATIEC
(D) RPCATICE

af? F12 W\ § MANGO 31 OGRAM &
w0 4 fazr st @ @ APPLE & (5w
R o srr?

(A) APLPE
(B) APPEL
(C) ELPAP

h(_g? ELPPA

afe #ts o1 4 ‘CHANTING'
‘HCNAITGN® & w4 4 forar S sdar 2
1, 3 CPINCHING® #1 $9 foredi?
(A) IPNCHIGN
[A®) IPCNIHCN |
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Speaking to Kamala, Rajesh said “My mother
is the only daughter of your father” How is
Kamala related to Rajesh?

(A) Mother

(B) Aunt

(C) Wife

(D) Daughter

M is the sister of N, R is the niece of M and
Ts the mother of R. How is N related to T?
(A) Brother

(B) Daughter

(C) Husband

(D) Nephew

Maya is Gopal's wife. Preethi’s husband,
Naresh hasa sister, Jaya and a brother, Gopal.
How is Naresh related to Maya?

(A) Father-in-law

(B) Son

(C) Son-in-law

(D) Brother-in-law

Which of the following numbersin the Vean
diagram showsithe soft cottonshirt?

1’ 10

O sott
A Lucknow
[ Cotton
QO shin

- (A) 6
(B) 5
© 9

TN 7

Q119 HHAT | &1d Bl §Y Ao T dwl I A

v fNdr @ sdhard ‘q*é’r R | TH @

T Hae 57
A) Al

(B) 3

© v
(D) ¥

Q120 M,N @I e &, R,Meﬁmwﬁ%mﬁz

FAT N HTE T oEEay 87
(A) W

@) &

(D) fGTly,

Q121 t#qi‘.'ﬂmﬁqr-ﬂ g1 W & vy RO B

W 61 gl ST ¥ T & | R T
HALE @ AT 32

A\ TR
e

o

o) it

Q122 w¥gw a urw § A1 W Featatia wwen

werd e B @ e el &7

L]
[

11 1

O sog—
A Lucknow
[ cotloa__
QO shint

(A) 6

© 9
(DY 7

Bookar«r | ™

~
=
o
+

=
=
=
D

(R
e

9

?

%}/
=
S
4
=
o

nlaldy
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B3y 5315) «
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=
Q
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e
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a
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M
©
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=
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Q123 Find the suitable option for the given Venn
diagram.

o
)

(A) Family, husband, wife
(B) Peacocks, crow, cocks

(C) Cows, figures, lions
(D) Cats, dogs, frogs

Q124 Whatdoes the number 3 in the Venn diagram
below describe?

(A) A cake which is not soft

(B) A soft cake which.igtade ofcho

(C) A soft cake whith is notmade of
chocolate

(D) A soft cheeolate

Q125 Which of the following mmbers in the Venn
diagram represents a warm and rainy day?

Q123 UHd 99 3R F I fadbea @ wuw
|

©9

N o

() aRare, afd, woh
(B) A, @, 1

(C) ™, i, I=

(D) Rfewral, @) Ao

Q124 fA=fafed 5 anvs = =< @ ==
foamoT W &2

@, 9T AR AEl £

e | a=rr 11 WE B |
(C) =9 BF & Aldbcic & el T4 T
13
(D) U& ¥R wHibee

Q125 wigd 3 amd # Freforfeas 4 4 a9 @
Al Ud WA I aewErdl feq &

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote
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B3y 5315) «

{jclols PRoIE 2} <

wfafifte s 87
)
: z>

/3N l 2
LS Ly ;
6|5 7 2
a
] chin %
() Foggy L] »& ﬁ
(O Rainypay L1 weR> S
] wam 2 Bnia %
£ AN £ Mmy 9 :] m/’ G
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Q126 Whichofthe following options best suit the
Venn diagram given in the figure?

OO
O

(A) English, Tamil, Hindi
(B) Women, mothers, doctors
(C) Passenger, bus, train
(D) Pollution, air, water

Q127 Seiecttheoddnncoutamongthefollowing:
(A) 9876
(B) 8765
(C) 5432
(D) 7653

sl

Q128 Which word does NOT belong v
others?
(A) Square
(B) Pentagon
(C) Hexagon
(D) Argle

Q129 Which wordidines NOT belong with the

others?

(A) Sitting
(B) Crying
(C) Standing
(D) Sleeping

Q130 WhichalphabetisNOT similer to the others?
(A) A
B) U
©D
(D) O

Q131 Which word does NOT belong with the
others?
(A) Earrings
M\ Aracelat

Q126 w@ﬁﬁﬁﬁﬁﬁwm?ﬁiﬁaﬂﬂmﬁm
3 A & WeN Al SUGHT 77

m/"“\
o U

Q r}n"\'u

- ri
[(a) oo, o, 1|
(B) Af@en, W, Sraex

(C) =, ¥, TS
(D) ugEwr, ¥4l qrl
Q127 Pefafaa % < HEN A W TEEHA
an |
(A) 9876
(B)g8765

Ty 3432 '
As Frefied 3 & o & e 9 W WEE
AR 80
A) wif
B) TE
(C) gl
(D) @IV

Q129 Priifaa & @ @1 W ¥R EILE I LD 60
@\ Y@ 87
A) 9541
(C) @St &
(D) ErT

Q130 Fmfafad 4 ¥ i ar 3eE 9 9 e 82
A A

B) U-
(D) @

Q131 Frefafta 3 @ @9 @ & A W
81 g &7

(A)
(B HT’I’?\
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Q132 Which word does NOT belong with the Q132 fr=foles 4 & 219 @& v 99 9wy

others? o a2

(A) Edges (A) A= o
(B) Sides m ‘\/ /j
(C) Faces (C) qae g

(D) Vertices @ o

Q133 IR =z # 9 wffdw o geam ¥ N

QI33 Choose the correct mirror image of the

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

object given from the choices, when the fedil advr 1 faw o Ry & WA AB R
mirror is held at A B: @ S
- E
~ s %
E’ Answer fipure I o= ¢
n } V%
| v | ,
I A B c D A B % )
E (A) A (B) B (A) A (B) B

©) C (D) P (D) D

Q134 Identify the odd pair Q124 Fr=fafad v gt & ¥ s g A

Tl

{jclols PRoIE 2} <

(A) Husband-Wife B
(B) Father-Daaghter (A) ufe—get
(€) Uncle-Niece B) I
(D) Mother-Son CE J;‘TI
(D) -t
F

QI35 ¥ & U ¥ IR AWl WM

Q135 Consider the four members of this set:

Coconut, Groundnut, Mustard, Corn
Which of the choices below can be a part of
the above set?

(A) Cashew nut

(B) Cocua

(C) Olive

T b ST T SRR

Ry 17 ATl § & P9 IW S WE @
TR B I o7
A) @lv

(B) Fra1
(C) it

M\ aTaTl
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136 Which of the following options has the
. P FT Sa—afafar 8 TE 87

cortect water image of the picture ziven

below?

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

nlaldy

; /Q \‘ N 0N iS4

C \ (D) Ao

- 3’?@@ E?i.«é}
SAVNM

b Y

.
B3y 5315) «

2 @ Qe uR ) Y e e
Q137 Select agsuitable figurefrom the answek Q137 7" & WA W ) AT T9

Hedf - SR, AR, FAPRI 9 5ER
?)
V

figuresthatyvould feplace the guestion mark o1 auT di | |
' i ON H Fi )
ON ™ Fl B g It A 3
E R EE VE o

U'(

-t
=4

Sl
A X | (A)

a{jsicls RROIE 2290 «

SE

VE
By | VE /(Ei\ . é
N h__— g-
Fas @
FO -
FO c 5
€) | UR © ] ur 2
S
®
1E ]
e (D) N 7
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Q138 Select a suitable figurc from the Answer

Figures that would replace the question
mark.

Q139 The first two figures in the givenfBrob
Set bear a relationship. Seléet that figu..
from the Answer Setaxhich bears the same
relationship te the third figure ir the Problem
Set as the second one bears to the first in
the Problem Set.

Problem Set:
E A
)
. |
1 2 3 4 I
Answer Set:
A B ¢ D
(A) A (B) B
€ ¢ (D) D

QI38 7" & ®IM W I a1 ugEd oy

BT T FY |

| 8))

HEn fE-de § uwom @) frm
el W6l §) IR fom @ 79 9w
faa 1 w1 ¥ o W e @ AW
fra A S o) gar W Wi & R
SR ¥ 390 A2 &7 g g e R R
Tt 8

INEE
OIS

I{C) C I (Dy D
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Q140 Select a suitable fipnre from the Answer 0140 ¢ b 2 UK SHITT AIC OMYHU 1M (
Figures that would replace the question H] AU BN |
mark.

]
(o
o
re
o
=
: S
r. ®
S
(A) __J C
(A) w0
¥ £ :
)
o
A (B) 4
E L\ e
~ ' (C) EL
(C) ’
N >~
= @ _ "
o 3
' ’i
E Q141 The figst two figyres i the Problem Figure Q141 A & s fE-de § gem W fA
bear a relatiofiship. Scleét the figre from anazr 1 vafd §1 SR s ¥ A 9 9

R w1 W BY O G ¥ D AR
fra @ dF @ ver & wwifm &
yBR 4 g8 de a1 gew e v B |

the Answer Figure.which bears the same
relationship tasthe third Problem Figure as
the second bears to the first Problem Figure.

Tl

B{jSloly BRAIE )b «

Problem Figure: ‘fﬁ:{gﬁ, :
Yplalyh  FRlaIC]

Answer Figure:
T MHa—de

[Fllellellsl APk

A B

A B c D

sJaded 3S9L [Ppon «

(A) Figure A (B) Figure B
ay R A (B) fT=F R
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Read the statements and identify the logically
correct conclusion from the gziven
information.

Statements:

“The beginning of heath is sleep™ - written
an @ hospital wall

Conclusion:

I) [Ifone sleeps, allhis diseases get cured.
I1) Sleep is the medicine for all the diseases.
(A) Onlyconclusion| follows

(B) Onlyconclusion Il follows

(C) Either conclusion | or Il follows

(D) Neither conclusion I nor 11 follows

Consider the statements to be true even if
they scem to be at variance from commnil
known facts. Decide whizh@f the g
conclusions logically follows from the two
given statements. disregarding.commanly
known facts.

Statements:

Some crows are liongs

All lions are panthers.

Conclusions;

I.  Some crows are panthers.

2. No lion is a crow.

(A) Only conclusion [ follows

(B) Only conclusion 11 follows

(C) Neither conclusion | nor Il follows

(D) Both, conclusions Tand 11 follow

Q142 1 T Ty I Femg B AR g1 Foos] -

P AU TN W dlfches ®T A deE o

e B |

C LR

@l Qldix yx [oidl 83T U {3 |

g -

1. afk 9ig dian 8, o 993 & T e
B W # e

1. T % i & gan &

(A) fa® | wBwd & |

B) R 11 wwwma 2

(C) a1 gighar 1FFTT )

(D), TSR (| T T

S %0 s Tw=w Ay W E) R
i 6 411 (gad qicvie ¥ <

e T @), aite Pt =

Yotz N i U8 4dIy [ B @ e

aifbe 3 P v § P § v
2

TUH

EAE R

GRSy

ﬁ‘ﬁ;d:

I. &8 39 9 £

Il &1 3 I Prar T )

(A) a9 F=pd | ¥89a 2

(B) fore frssd 11 wwaa &)
(C) =14 [ 3% =1 81 1l 5w 2
(D) |8R 13 & e 2

|2 th 2R felk ¢p S8SIN0) 3UlUQ +002L Iote

alblch

b Y

sJaded 3S9L [Ppon «



https://utkarsh.com/student-corner/pyq

us https://utkarsh.com/student-corner/pyq T E

UTKARSH

=——=CLASSES—
o4l €D

Q144 #ﬁ‘xagﬁmﬂsmﬁmf&tw%;ﬁw

Q144 Consider the stalements to be true even if
they seem 1o be at variance from commonl; o el B TR OAF (39S 9N @ q ﬁ
known facts. Decide which of the given A T udia g, 3l [Prerel @6 o
conclusions logically follows from the ez 3 iR AT @A & e Elon| 8
statements. qife ik Afan & T FuA § FE0d 5
Statements: 21 =
1) Most teachers are boys. A e ﬁ
2) Some boys are students. a4 %\Eﬁ?@fﬁ Bl o
Conclusions: O a2 o 2| 3
1) Some students are boys Fyond %
1) Some teachers are students. I @ B ASD 8| 8y
(A) Onlyconclusion | follows I @ Reio or3 B %
(B) Only conclusion I1 follows (») fw sy | irs;?_l 53
(C) Both, conclusions | and 11 follow (B) o FrErt |l g € | ﬂ
(C) 18R 1L gl 8 TeATE | o,

(D) Neither conclusions | nor Il follows
O | R AT 1 aEEg R

nlaldy

1 @ gl X o d 9w A I

Q145 Seleet the option thatis related to th
Y wane 2 5 avE 9 Usdl 9 TR

term in the same way.asihe firs: <

Hedf - SR, SR, PRI a 8ER
B3I 2211 «

related 10 the secghd terms Uz A sdfer &)

7:50 : M@0} 7= 50%:%: 101 s
(A) § (A) 5

(B) 10 (B) 10

(©) 11 (€) 11

(D) 38 @ 38

Tl

Ql46 S Riped @1 BT ¥ ot AR U< A IA
¥ Wl & R e § R 19 e

related to the first term. ve & Hafdd 21
258:80::360: 7 258:80::369:

0146 Select the option that is releted 10 the third

Yl BRoIE 2 <

term in the same way as the second term is

(8) 18 (B) 18
©) 90 (€) %
(D) 54 (D) 54
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What will come in place of the blank = =¢

series?
3,15,35.63, _ 143,
(A) 89
(B) 78
iC) 99
(D) 121

Find the next letter in the series:
T

(A) Q

(B) R

© S

D) A

[dentify the number that follows the series

2'\3’\%[7’ -
A’18 ﬁ‘\.
(3) 28

(C) 27

(D) 29

Insert the correct option in the blank below:;

ALES KIl, €20
(A) S17
(B) S19
(C) MI3
(D) M17

 §

Q47 Pr=feRag wn A Rew v @ o+
3,.15. 35, 63, ., 143,
.

(A) 80
B) 73
(©) 99

(D) 121

0148 fA=fafes &F & o Yew &1 5T &Y
LENTE

(A) Q
(B) R
(C) S
(D) A

- . - ~

™" _Fr W g 4 ugdie

an i h—
(A) 18
(B) 28
(€) 27

(D) 29

Q1350 FHfeifEd e wie 4 w8 g ufde

N
ALES KL, . CMW

(A) 817
(C) M3
(D) M7
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